Transfers Report

This report contains the transfers results.

Contest Name	Ward 7 - Bannockburn
Valid Votes	3,679
Positions to be Filled	3
Quota	920

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Margaret BRISLEY	Scottish Labour Party	762
Brian HAMBLY	Scottish National Party (SNP)	749
Sophie HENDRY	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	41
ALASDAIR MACPHERSON	Independent	955
HILARY MACPHERSON	Scottish Liberal Democrats	77
Stuart MCLUCKIE	Scottish Conservative and Unionist	702
Marie STADTLER	Scottish Greens - Think Global Act Local	87
Diane TORTOLANO	Scottish National Party (SNP)	306
	Total	3,679

Candidate ALASDAIR MACPHERSON Elected with 955 votes, being in excess of the quota of 920

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of ALASDAIR MACPHERSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margaret BRISLEY	221	0.03664	8.09744
Transfer to Brian HAMBLY	169	0.03664	6.19216
Transfer to HILARY MACPHERSON	42	0.03664	1.53888
Transfer to Stuart MCLUCKIE	85	0.03664	3.11440
Transfer to Marie STADTLER	49	0.03664	1.79536
Transfer to Diane TORTOLANO	113	0.03664	4.14032
No further preference	252	0.03664	9.23328
Not transferred due to rounding			0.00880
	Total		35.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Sophie HENDRY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margaret BRISLEY	5	1.00000	5.00000
Transfer to Brian HAMBLY	1	1.00000	1.00000
Transfer to HILARY MACPHERSON	3	1.00000	3.00000
Transfer to Stuart MCLUCKIE	12	1.00000	12.00000
Transfer to Marie STADTLER	4	1.00000	4.00000
Transfer to Diane TORTOLANO	3	1.00000	3.00000
Transfer to Margaret BRISLEY	5	0.03664	0.18320
Transfer to Brian HAMBLY	3	0.03664	0.10992
Transfer to HILARY MACPHERSON	1	0.03664	0.03664
Transfer to Stuart MCLUCKIE	2	0.03664	0.07328
Transfer to Marie STADTLER	6	0.03664	0.21984
No further preference	13	1.00000	13.00000
No further preference	7	0.03664	0.25648
Not transferred due to rounding			0.00000
	Total		41.87936

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of HILARY MACPHERSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margaret BRISLEY	19	1.00000	19.00000
Transfer to Brian HAMBLY	8	1.00000	8.00000
Transfer to Stuart MCLUCKIE	14	1.00000	14.00000
Transfer to Marie STADTLER	8	1.00000	8.00000
Transfer to Diane TORTOLANO	7	1.00000	7.00000
Transfer to Margaret BRISLEY	15	0.03664	0.54960
Transfer to Brian HAMBLY	7	0.03664	0.25648
Transfer to Stuart MCLUCKIE	8	0.03664	0.29312
Transfer to Marie STADTLER	3	0.03664	0.10992
Transfer to Diane TORTOLANO	1	0.03664	0.03664
No further preference	24	1.00000	24.00000
No further preference	9	0.03664	0.32976
Not transferred due to rounding			0.00000
	Total		81.57552

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Marie STADTLER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margaret BRISLEY	18	1.00000	18.00000
Transfer to Brian HAMBLY	22	1.00000	22.00000
Transfer to Stuart MCLUCKIE	6	1.00000	6.00000
Transfer to Diane TORTOLANO	25	1.00000	25.00000
Transfer to Margaret BRISLEY	12	0.03664	0.43968
Transfer to Brian HAMBLY	8	0.03664	0.29312
Transfer to Stuart MCLUCKIE	2	0.03664	0.07328
Transfer to Diane TORTOLANO	17	0.03664	0.62288
No further preference	28	1.00000	28.00000
No further preference	19	0.03664	0.69616
Not transferred due to rounding			0.00000
	Total		101.12512

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Diane TORTOLANO

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margaret BRISLEY	26	1.00000	26.00000
Transfer to Brian HAMBLY	295	1.00000	295.00000
Transfer to Stuart MCLUCKIE	2	1.00000	2.00000
Transfer to Margaret BRISLEY	15	0.03664	0.54960
Transfer to Brian HAMBLY	88	0.03664	3.22432
Transfer to Stuart MCLUCKIE	1	0.03664	0.03664
No further preference	18	1.00000	18.00000
No further preference	27	0.03664	0.98928
Not transferred due to rounding			0.00000
	Total		345.79984

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Brian HAMBLY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margaret BRISLEY	398	0.15213	60.54774
Transfer to Stuart MCLUCKIE	28	0.15213	4.25964
Transfer to Margaret BRISLEY	85	0.00557	0.47345
Transfer to Stuart MCLUCKIE	5	0.00557	0.02785
No further preference	649	0.15213	98.73237
No further preference	185	0.00557	1.03045
Not transferred due to rounding			0.00450
	Total		165.07600

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Stuart MCLUCKIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Margaret BRISLEY	283	1.00000	283.00000
Transfer to Margaret BRISLEY	20	0.15213	3.04260
Transfer to Margaret BRISLEY	36	0.03664	1.31904
Transfer to Margaret BRISLEY	4	0.00557	0.02228
No further preference	453	1.00000	453.00000
No further preference	8	0.15213	1.21704
No further preference	62	0.03664	2.27168
No further preference	1	0.00557	0.00557
Not transferred due to rounding			0.00000
	Total		743.87821